September 28 Math 2306 sec. 56 Fall 2017

Section 9: Method of Undetermined Coefficients

The context here is linear, constant coefficient, nonhomogeneous equations

$$a_n y^{(n)} + a_{n-1} y^{(n-1)} + \cdots + a_0 y = g(x)$$

where g comes from the restricted classes of functions

- polynomials,
- exponentials,
- sines and/or cosines,
- and products and sums of the above kinds of functions

Recall $y = y_c + y_p$, so we'll have to find both the complementary and the particular solutions!

September 27, 2017

1/33

Motivating Example

Find a particular solution of the ODE

$$y'' - 4y' + 4y = 8x + 1$$

Note $g(x) = 8x + 1$ is a 1st degree polynomial (a.k.a aline).
Lit's guess that y_{p} is also a 1st degree polynomial.
 $y_{p} = Ax + B$ for some numbers A and B.
Lit's substitute $y_{p}' = A$, $y_{p}'' = O$
 $y_{p}'' - 4y_{p}' + 4y_{p} = O - 4(A) + 4(Ax + B) = 8x + 1$

<ロ> <四> <四> <四> <四> <四</p>

This requires -4A + 4Ax +4B = 8x+1 4Ax+ (-4A+4B) = 8×+) Matching coefficients, we set 4A = 8 md -4A+4B= 1 3 4B = 1+ 4 A = 1+ 4.2 = 9 A=2 $B = \frac{q}{4}$ So $S_p = 2x + \frac{q}{q}$

September 27, 2017 3 / 33

(日)

Let's verify that yp= 2x + 9 does solve y"-45 +44 = 8×+1 $y_p = 2$, $y_p'' = 0$ On Substitution $0 - 4(z) + 4(z + \frac{9}{4}) =$ -8 + 8x + 9 = 8x + 1

◆□▶ ◆□▶ ◆ □ ▶ ◆ □ ▶ ◆ □ ▶

The Method: Assume y_p has the same **form** as g(x)

$$y'' - 4y' + 4y = 6e^{-3x}$$

Let's guess that
$$y_p = Ae^{-3x}$$
. We'll sub into the DE
 $y_p' = -3Ae^{3x}$, $y_p'' = 9Ae^{-3x}$
 $y_p'' - y_y'' + y_y = 9Ae^{-3x} - 4(-3Ae^{-3x}) + 4(Ae^{-3x}) = 6e^{-3x}$
 $9Ae^{-3x} + 12Ae^{-3x} = 6e^{-3x}$
 $9Ae^{-3x} + 12Ae^{-3x} = 6e^{-3x}$
 $y_z = 6e^{-3x}$
This holds if $A = \frac{6}{25}$. So $y_p = \frac{6}{25}e^{-3x}$

September 27, 2017 5 / 33

Make the form general

$$y'' - 4y' + 4y = 16x^{2}$$

What if we assume $y_{p} = Ax^{2}$. Then
 $y_{p}' = 2Ax$, $y_{p}'' = 2A$. Substitute
 $y_{p}'' - 4y_{p}' + 4y_{p} = 2A - 4(2Ax) + 4Ax^{2} = 16x^{2}$
This gives
 $4Ax^{2} - 8Ax + 2A = 16x^{2}$
Matching coefficients
 $4A = 16$, $-8A = 0$, and $2A = 0$
 $A = 4$ and $A = 0$, and $2A = 0$
September 27, 2017 6/33

We didn't account for an x or constant term.
If we consider
$$g(x) = 16x^2 = 16x^2 + 0x + 0$$
, we
make the better assumption $y_p = Ax^2 + Bx + C$.
 $y_p'' = 2Ax + B$, $y_p'' = 2A$
 $y_p'' - 4y_p' + 4y_p = 2A - 4(2Ax + B) + 4(Ax^2 + Bx + C) = 16x^2$
 $4Ax^2 + (-8A + 4B)x + (2A - 4B + 4C) = 16x^2 + 0x + C$
Matching coefficients

September 27, 2017 7 / 33

・ロト・西ト・ヨト・ヨー うへの

$$4A = 16, -8A + 4B = 0, 2A - 40 + 4C = 0$$

$$A = 4, 4B = 8A, B = 2A = 8, 4C = -2A + 4B$$

$$C = -\frac{1}{2}A + B = -2 + 8 = 6$$

$$so - ye = 4x^{2} + 8x + 6$$

General Form: sines and cosines

$$y''-y'=20\sin(2x)$$

If we assume that $y_p = A\sin(2x)$, taking two derivatives would lead to the equation

$$-4A\sin(2x) - 2A\cos(2x) = 20\sin(2x).$$

This would require (matching coefficients of sines and cosines)

$$-4A = 20$$
 and $-2A = 0$.

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □

9/33

This is impossible as it would require -5 = 0!

General Form: sines and cosines

We must think of our equation $y'' - y' = 20 \sin(2x)$ as

$$y'' - y' = 20\sin(2x) + 0\cos(2x).$$

The correct format for y_p is

$$y_p = A\sin(2x) + B\cos(2x).$$

when guessing at 5p, assume 5p (ontains all
terms in g(x) and all possible derivatives of these
terms.

September 27, 2017

10/33

(a) g(x) = 1 (or really any constant)

(b)
$$g(x) = x - 7$$

 $y = A x + B$ |st degree Poly,

< □ → < □ → < Ξ → < Ξ → < Ξ → 三 のへで September 27, 2017 11/33

(c)
$$g(x) = 5x^2$$

 $y_p = Ax^2 + Bx + C$ $z^{n2} degree poly$.

(d)
$$g(x) = 3x^3 - 5$$

 $y_p = A x^3 + B x^2 + C x + D$ 3^{c2} degree poly.

< □ → < □ → < ⊇ → < ⊇ → < ⊇ → 三 の へ (* September 27, 2017 12 / 33

(e)
$$g(x) = xe^{3x}$$

 $y_{p} = (A_{x+}B)e^{3x}$

 $g_{x} = 3x$

 $g_{x} = 3x$

(f) $g(x) = \cos(7x)$

yp= A Cos(7x) + BSin(7x)

September 27, 2017 13 / 33

(g) $q(x) = \sin(2x) - \cos(4x)$ $S_p = A S_{in}(z_X) + B (os(z_X) + C S_{in}(u_X) + D Cos(u_X))$ (h) $g(x) = x^2 \sin(3x)$ yp= (Ax2+ Bx+C) Sin (3x) + (Dx2+Ex+F) Cos (3x). 2nd degree poly times Sin(3x) and Cos(3x)

September 27, 2017 14 / 33